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QUESTION 1

Which HP solution most helps customers who need to respond to the rapid growth of big data?

A. HP StoreAll

B. HP 3PAR StoreServ

C. HP Moonshoot

D. HP Continuous Delivery Automation

Correct Answer: B

Responding to the rapid growth in Big Data, HP solutions include: (Study guide p.33) HP 3PAR StoreServ
HP StoreOnce HP StoreAll Express Query HP StoreAll Storage

http://www8.hp.com/us/en/products/data-storage/3parstoreserv.html

QUESTION 2

1. RECOGNIZE NEEDS

2. IDENTIFY REQUIREMENTS

3. EVALUATE OPTIONS

4. MITIGATE RISKS

5. PURCHASESOLUTION

Converged Infrastructure is designed to solve many of the problems that affect traditional data centers. Which statement
describes a common problem with traditional data centers?

A. Data centers are using two-tier architectures, which were designed to meet the needs of legacy client-server
applications.

B. The IT infrastructure is compartmentalized into technology silos, making it difficult for IT to manage and change

C. Companies are relying more heavily on monolithic mainframes, decreasing the overall performance of the data
center.

D. Bandwidth costs are increasing more rapidly than power and cooling costs, slowing the adoption of new bandwidth-
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intensive applications.

Correct Answer: B

Traditional IT Infrastructure: (Study guide p.22)

Dedicated technology silos and lots of components created for peak capacity to meet each individual need
Compartmentalized with few standards that crossed multiple silos

Often requiring dedicated power, cooling, management and support in order to upgrade

Cost of maintenance continues to increase, while adding more complexity and reducing time spent on innovation

QUESTION 3
Which statement correctly describes how HP FlexFabric solutions can flatten customers\\' networks?

A. The topology has 1, 2, or 3 tiers, but Intelligent Resilient Framework (IRF) is only an option for 2-tier and 3-tier
solutions

B. The topology removes the wireless controller layer by using switches to manage wireless access points

C. HP 59X0 Switch Series top of the rack (ToR) switches and rack servers are components of a simplified 1-tier
solution

D. HP Intelligent Resilient Framework (IRF) and HP BladeSystem technologies deliver a low latency 1-tier topology.
Correct Answer: D

http://h17007.www1.hp.com/us/en/whatsnew/august/230811-2.aspx

QUESTION 4

Which IT concern is most related to users\\' demands for mobile access?
A. the lack of security for encryption keys on workflows moving In the cloud
B. the pressure to respond quickly to rapidly-changing technologies

C. the difficulty in scaling network capacity for the Increase in traffic

D. the difficulty in collecting, analyzing, and querying rapidly growing data

Correct Answer: C

Responding to the demand for mobile access: Most legacy network infrastructures were not built to allow consumer-
oriented devices to access corporate data and applications. Lack of network capacity and scalability and Wireless Local
Area Network were not originally designed to cope with the huge traffic demands of consumer devices, and support for
devices that need to connect is a big consideration (Study guide p.33)
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QUESTION 5

A company needs to upgrade its data center servers, which host non-business-critical services. The customer values
ease of management, a small physical footprint and the ability to expand in the future. Which HP solution and value
proposition should you suggest?

A. The HP ProLiant BL460c Gen8 server balances scalability, performance, and ease of management.

B. The HP ProLiant DL380 server pools virtualized resources to simplify management and increase efficiency.

C. The HP Moonshot 1500 Chassis meets high availability needs in a highly efficient form factor

D. The HP ProLiant ML350 server is an affordable solution that will scale for any future needs.

Correct Answer: B
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